—®

5 @?ﬁ %J tillegg av brek (samme nevner)
StudentName: ExamDate: _ ExamScore: ____

5 3
4+ =

77

5 1
T4+ =

77

5 6
T4 =

77

3 2

Z 4+ =

9 9

5 7

T4+ - =

3 3

1 2

— 4+ =

4 4

1 2

— 4+ =

6 6

4 7

— 4 — =

6 6

2 2

“+1Z =

44

5 6

T4+ =

9 9

www.snowmath.com


https://www.snowmath.com

—®

! @?ﬁ %J tillegg av brek (samme nevner)
StudentName: __ ExamDate: ___ ExamScore:
5 3 8 1
T+ =_=1=
77 7
5 1 6

4 =_

77

5 6 11 4
= =1-
7 7 7
3 2 5

42 ==

9 9 9

5 7

4+ _=4

3 3

1 2 3

4+ - ==

474 4

1 2 1

4+ 2=

6 6 2

4 7 11 5
—+_=_—=1=
6 6 6 6
2 + 12 =2

4 4

5 6 11 2
T+ =_—=1=
9 9 9 9

www.snowmath.com


https://www.snowmath.com

